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O32=2 Xttt 79,800,000 79,800 0 79,800
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OXIBCHEIZ] W& 15=E IS AL 10,730 11,000 A270
Ox=3% 180,000 180 450 A270
205 2|2/d] 2,928,942 3,038,942 110,000
09 2 F o] 100,000 210,000 A110,000
OFHAAEA] 100,000,000 100,000 210,000 A110,000
401 AlEHIZL SO 80,296 85,700 N5,404
01 AlZHI 80,29 85,700 N5,404
OB HEMAIAEY 5 62,295,390 62,296 66,000 N3,704
O=|24 HIEZ A 18,000,000 18,000 19,700 1,700
dEs g2 g% NE 1,077,385 1,082,664 A5,279
203 =4l 9,000 6,000 3,000
03 A= PR FZ| 9,000 6,000 3,000
02y g2 gf=d 9,000,000& 9,000 6,000 3,000
405 KHakE SH 216,151 224,430 A8,279
01 AL =S F=H 212,101 220,380 A\8,279
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18,500,000 18,500 20,000 1,500
OSHOIKl == AAE WX 131,588 136,800 N5,212
OAMH 57,649,000 57,649 61,400 A3,751
OJtatst ATESN 36.611,000& 36,611 38,000 1,389
OVPN(Z S 3}&HI) 2,328,000& 2,328 2,400 AT2
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ousd sd4 24 14,388,000 14,388 15,180 ANTR
OZEZelHJ] 1,870,000& 1,870 2,000 A130
HY2HHHI(ASTIARZ) 3,797,189 4,345,269 /548,080
H24H]| 3,637,094 4,167,094 A530,000
el 3,637,094 4,167,094 A530,000
101 @124H| 3,281,079 3,811,079 A530,000
02 JIEtXE > 939,475 1,439,475 500,000
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08 SRA(PIAHS) 222+ 461,418 491,418 30,000
o21z2(t3) 281,737 311,737 30,000
-85S 5,138,000 5,138 35,138 30,000
(=34l 160,095 178,175 18,080
Jl23tl 160,095 178,175 18,080
201 Ler2aY| 76,630 71,630 5,000
01 Ab2teltl 69,580 64,580 5,000
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500,000& «60 30,000 25,000 5,000
202 04t 36,245 64,725 A\28,480
01 20 36,245 64,725 128,480
OJI=ZHI 35,120,000& 35,120 63,600 128,480
406 XHAHR SHI 21,600 16,200 5,400
01 L =ZFH S 21,600 16,200 5,400
OUIA & 2,600 600 2,000
Od&n 1,000,000 2CH 2,000 0 2,000
ONEIEL 5,900 2,500 3,400
OARE2RH(22IXH) 500,000 *3H 1,500 500 1,000
OARE2ATHE R 300,000 *20H 600 0 600
OANFEHY 200,000 204 400 0 400
OO0ISAMEE 200,000 204 400 0 400
o281 200,000 *5CH 1,000 0 1,000




